SH6EE TR REAHS)

HAR | XHES XHANE T HE4E (M)
1858 =8 2025 RFERILE 4,000
1858 & BERGRHERILE 3,500
1878 R EEEBEAR 4,000
1A8H & LEEERETHERILE 7,000
189H R LETEAFAFREREFERILE 2,310
189H S8 LETEAFAFREREFERILE 4,000
189H FE LAETHFEREECHERTH 10,000
1H10H B LEEEE BN 4,950
1H10H BHHR REEISHES 2,200
1H14H =28 LETHMI BESTERILE 5,000
1H17H femE |HERFLXE 15,011
1H18H B EBERNSHES 2,310
1H18H =8 ASINAFENDDEN~Za1—(¥—XE— )L/ \—F1—2025 2,000
1H20H B AEMEREERNEERES 2,200
1H20H E4- LEEREDETERILE 5,000
1H20H FE LAETHFEREECHERTH 10,000
18218 2% |ERAEILETLILRS FEEARHRS 15,000
1H22H B BEHDEBAAR—TRAT«/NLEEEEEEY R HEN 20,098
1H24H B LEEESTENE 2,310
1H24H femE |HERFLXE 6,750
18258 RE LHFEVVIXEFRESRNIEFERESAH-MES 3,500
1H27H R LEMABEREERESTERILE 2,310
18298 =8 LR ISEHENRERNESHFERILE 5,000
1H29H R ZEBEISEMFENRERKESRER 16,500
1H30H S8 LB ERFI-PEAKSY DR STATBMKERISF— BHS 6,000
1H31H8 R — B EEALBERET SR FTRIEINI60E FiL S 5,000
1H31H E4- LE BEXRROESHERILE 4,000
1H31H FE EFETWFEREEHERH 10,000

INET 179,949
XHX S #51 FHH&%E (M)
ERENER 0 0
S5 12 64,000
B 10 44,090
FE 3 30,000
e - 0 0
RESH 0 0
femE 2 21,761

B 1 20,098

2HE 0 0
HEt 28 179,949




SIH6EE = HRECHRD)
HEAR | ZHRS FHAS ZHEEE(H)
2818 = FERILTANFENR RS 6,000
284H = B EERBELRAABATULIERLODERRBE 7,000
2858 = EBimES B 7,700
285H BE AETUNFEREECHETA 10,000
2858 fEemE |HRFLIE 5,609
2A6H =& LEHBERFE 3,000
2H8H = EREAK-BAARESREBERS 5,000
289H = RIIRREFRARXRHICHESBEBEHRS 1,750
28128 B EEAHIREEETER 2,310
28128 BE AETUNFEREECHETA 10,000
28148 EW REHAE 2,200
28148 ffemE TEEXEFLIE 2,849
28148 B I EEEBEHEER 17,050
28158 =& BEFNEA—I) T HEEAR RS 5,000
2816H B FERERBN I3 A FERE S 5,000
2816H =& FEEHERBNEAFERESHES 5,000
28178 =& BHEILEVITHES 10,000
2818H =& B g O<KYFvoF IO URID L 5,000
28198 =& HREIAREVV AXF—Y T —SKEH/N—T(— 6,000
2H20H =& BAA—) VBV —TEFERSTUOL Ty 6,000
2H23H B BEMVELEA—T AN EREES 3,300
IVEE 125,768
FHXS i T HE&EE (M)
AREXEE 0 0
=& 12 67,450
B 5 29,860
FE 2 20,000
- 0 0
RESR 0 0
femE 2 8,458
B 0 0
2R 0 0
=1 21 125,768




SHIGEE 32 &% RE((SAS

XHEHA X% RS X %28 (M) |
3A1H = RAREERILHERESBES 6,000
382H = BREERAKFEERNE 3,000
3H2H =8 HRERBEAEEVY VY RF YT —ELESN—FT1— 6,000
3H4H BE-EH [EEEREERAFE TR 10,000
3H6H B BEAEHMETEIRESHERRES 2,310
38128 B AEMEREBRHNEEMFHRES 2,200
38148 = BEHEERERTFHEOS 3,000
3H18H BE LETNHEZEEHERTA 10,000
3H228 BEY AETEHEEET A —HERSRUVENSHRRSBES 2,310
38238 B LEERREENEHEES 3,300
3H24H B0 LEEISETENEERSBERES 2,310
3H24H 2% [HIkSTHRAERERES 6,000

INET 56,430

FHXS 31 X HEEE M)

BREXEE 0 0
E- -1 5 24,000
EM 4 10,120
FE 1 10,000

e - B 1 10,000

BEESHR 0 0

RemEFE 0 0
=LY 1 2,310

EEXES 0 0
&t 12 56,430




